JOURNAL OF DIFFERENTIAL EQUATIONS 56, 297-309 (1985)

Univalent Solutions of Briot–Bouquet Differential Equations

SANFORD S. MILLER*

Department of Mathematics and Computer Science, State University of New York, College at Brockport, Brockport, New York 14420

AND

PETRU T. MOCANU

Faculty of Mathematics, Babes-Bolyai University, 3400 Cluj-Napoca, Romania

Received June 29, 1982; revised July 8, 1983

Let β and γ be complex numbers and let h(z) be regular in the unit disc U. This article studies the Briot-Bouquet differential equation $q(z) + zq'(z)/(\beta q(z) + \gamma) = h(z)$. Sufficient conditions are obtained for both the regularity and univalency of the solution in U. In addition, applications of these results to differential subordinations, integral operators and univalent functions are given. © 1985 Academic Press, Inc.

1. INTRODUCTION

Let β and γ be complex numbers and let h(z) be regular in the unit disc U. In this article we shall be concerned with determining properties of the solutions of the differential equation

$$q(z) + \frac{zq'(z)}{\beta q(z) + \gamma} = h(z), \qquad (1)$$

with q(0) = h(0). Differential equations of this form are said to be of Briot-Bouquet type [3, p. 403].

Several applications of these equations in the theory of univalent functions have recently appeared in [10 and 2]. In the latter article several results involving dominants of differential subordinations are obtained under the assumption that the solutions of (1) are regular and univalent in U. In this paper we will determine sufficient conditions for both the regularity and univalency of these solutions.

* The first author acknowledges support received from the National Academy of Sciences through its exchange program with the Academy of the Socialist Republic of Romania.

In the special case $\beta = 0$, the differential equation (1) has a regular solution given by $q(z) = \gamma z^{-\gamma} \int_0^z h(t) \cdot t^{\gamma-1} dt$. If, in addition, h is a convex function and Re $\gamma \ge 0$ then q(z) is a univalent function [5, p. 115]. When $\beta \ne 0$ it is possible to formally obtain a solution of (1). We first consider the case $q(0) = h(0) = c \ne 0$. If we let

$$Q(z) = z \exp \int_0^z \frac{q(t) - c}{ct} dt$$
(2)

and

$$H(z) = z \exp \int_0^z \frac{h(t) - c}{ct} dt,$$

then

$$q(z) = \frac{czQ'(z)}{Q(z)} \quad \text{and} \quad h(z) = \frac{czH'(z)}{H(z)}.$$
 (3)

Multiplying (1) by β and using (3) we obtain

$$\frac{\beta czQ'(z)}{Q(z)} + \frac{\beta zq'(z)}{\beta q(z) + \gamma} = \frac{\beta czH'(z)}{H(z)}$$

and

$$\beta c \left(\frac{Q'(z)}{Q(z)}-\frac{1}{z}\right)+\frac{\beta q'(z)}{\beta q(z)+\gamma}=\beta c \left(\frac{H'(z)}{H(z)}-\frac{1}{z}\right).$$

Integrating from 0 to z we obtain

$$\log\left(\frac{Q(z)}{z}\right)^{\beta c} + \log\left(\frac{\beta q(z) + \gamma}{\beta c + \gamma}\right) = \log\left(\frac{H(z)}{z}\right)^{\beta c}.$$

Simplifying and using (3) leads to

$$[Q(z)]^{\beta c} \left(\frac{\beta c z Q'(z)}{Q(z)} + \gamma \right) = (\beta c + \gamma) [H(z)]^{\beta c}.$$
(4)

Multiplying by $z^{\gamma-1}$ and integrating from 0 to z we obtain

$$[Q(z)]^{\beta c} z^{\gamma} = (\beta c + \gamma) \int_0^z [H(t)]^{\beta c} t^{\gamma - 1} dt.$$

Using this result with (3) and (4) we obtain the formal solution of (1) given by

$$q(z) = \frac{czQ'(z)}{Q(z)} = \frac{\beta c + \gamma}{\beta} \left(\frac{H(z)}{Q(z)}\right)^{\beta c} - \frac{\gamma}{\beta}$$
(5)
$$= z^{\gamma} [H(z)]^{\beta c} \left(\beta \int_{0}^{z} [H(t)]^{\beta c} t^{\gamma - 1} dt\right)^{-1} - \gamma/\beta,$$

where H(z) is given by (2).

In the case q(0) = h(0) = 0, let

$$Q(z) = z \exp \frac{\beta}{\gamma} \int_0^z \frac{q(t)}{t} dt$$
(6)

and

$$H(z) = z \exp \frac{\beta}{\gamma} \int_0^z \frac{h(t)}{t} dt$$

Using the same technique as above, we obtain the formal solution

$$q(z) = \frac{\gamma}{\beta} \left(\frac{zQ'(z)}{Q(z)} - 1 \right) = \frac{\gamma}{\beta} \left(\frac{H(z)}{Q(z)} \right)^{\gamma} - \frac{\gamma}{\beta}$$

$$= H^{\gamma}(z) \left(\beta \int_{0}^{z} H^{\gamma}(t) t^{-1} dt \right)^{-1} - \gamma/\beta.$$
(7)

In Section 2 we will determine conditions on β , γ , and h(z) so that the formal solutions, given by (5) when $q(0) = h(0) = c \neq 0$, and by (7) when q(0) = h(0) = 0, are well defined, regular, and univalent. In Section 3 we apply these results to Briot-Bouquet differential subordinations.

We close this section with a lemma that will be used several times in the next section.

LEMMA 1. Let $\lambda(z)$ be a function defined in U with $\operatorname{Re} \lambda(z) \ge 0$ for $z \in U$. If f(z) is regular in U and

$$\operatorname{Re}[f(z) + \lambda(z) z f'(z)] > 0 \tag{8}$$

for $z \in U$, then $\operatorname{Re} f(z) > 0$ for $z \in U$.

Proof. Let f(0) = a and $\psi(r, s) = r + \lambda(z)s$. From (8) we obtain Re a > 0and Re $\psi(f(z), zf'(z)) > 0$. The conclusion of the lemma follows from Theorem 5 of [8] if we can show that Re $\psi(r_2 i, s_i) \leq 0$ when $s_1 \leq 0$. But in this case we have Re $\psi(r_2 i, s_1) = [\text{Re }\lambda] s_1 \leq 0$. Hence Re f(z) > 0.

MILLER AND MOCANU

2. REGULAR AND UNIVALENT SOLUTIONS

THEOREM 1. Let β and γ be complex numbers with $\beta \neq 0$, and let $h(z) = c + h_1 z + \cdots$, be regular in U. If $\operatorname{Re}[\beta h(z) + \gamma] > 0$ then the solution of

$$q(z) + \frac{zq'(z)}{\beta q(z) + \gamma} = h(z), \qquad (9)$$

with q(0) = c, is regular in U. The solution satisfies $\operatorname{Re}[\beta q(z) + \gamma] > 0$ and is given by

$$q(z) = H^{\gamma}(z) \left(\beta \int_{0}^{z} H^{\gamma}(t) t^{-1} dt\right)^{-1} - \gamma/\beta \qquad \text{if} \quad c = 0,$$

$$= z^{\gamma}[H(z)]^{\beta c} \left(\beta \int_{0}^{z} [H(t)]^{\beta c} t^{\gamma - 1} dt\right)^{-1} - \gamma/\beta \qquad \text{if} \quad c \neq 0,$$

(10)

where

$$H(z) = z \exp \frac{\beta}{\gamma} \int_0^z \frac{h(t)}{t} dt \quad \text{if } c = 0,$$

$$= z \exp \int_0^z \frac{h(t) - c}{ct} \quad \text{if } c \neq 0.$$
 (11)

Proof. Since $H(z)/z \neq 0$, we can define the function f by

$$f(z) = \frac{1}{z^{\gamma}(H(z)/z)^{\gamma}} \int_0^z \left(\frac{H(t)}{t}\right)^{\gamma} t^{\gamma-1} dt \qquad \text{if} \quad c = 0,$$
$$= \frac{1}{z^{\beta c + \gamma}(H(z)/z)^{\beta c}} \int_0^z \left(\frac{H(t)}{t}\right)^{\beta c} t^{\beta c + \gamma - 1} dt \qquad \text{if} \quad c \neq 0,$$

where all powers are chosen as principal ones. The function f is regular in U and satisfies

$$f(z) = \frac{1}{H^{\gamma}(z)} \int_{0}^{z} H^{\gamma}(t) t^{-1} dt \qquad \text{if} \quad c = 0,$$

$$= \frac{1}{z^{\gamma}[H(z)]^{\beta c}} \int_{0}^{z} [H(t)]^{\beta c} t^{\gamma - 1} dt \qquad \text{if} \quad c \neq 0.$$
(12)

In both cases $f(0) = 1/(\beta c + \gamma)$ and hence $\operatorname{Re} f(0) > 0$. We shall show that $f(z) \neq 0$ in U by using Lemma 1 to show that $\operatorname{Re} f(z) > 0$ in U. By differentiating (12) and logarithmically differentiating (11) we obtain

$$[\beta h(z) + \gamma] f(z) + z f'(z) = 1,$$

for any c. If we let $P(z) = \beta h(z) + \gamma$, then Re P(z) > 0, Re[1/P(z)] > 0, and we obtain

$$f(z) + \frac{1}{P(z)} z f'(z) = \frac{1}{P(z)}.$$
 (13)

Hence

$$\operatorname{Re}\left[f(z)+\frac{1}{P(z)}zf'(z)\right]>0,$$

and we can apply Lemma 1 to obtain $\operatorname{Re} f(z) > 0$.

Since $f(z) \neq 0$, the function q given by

$$q(z) = \frac{1}{\beta f(z)} - \frac{\gamma}{\beta}$$
(14)

is regular in U and satisfies $\operatorname{Re}[\beta q(z) + \gamma] = \operatorname{Re}[1/f(z)] > 0$. Combining (11), (12), and (14) we obtain the function q(z) given in (10). Hence this function is regular and, as was shown in Section 1, this function is the solution of (9) with q(0) = c. This completes the proof of the theorem.

As an incidental consequence of Theorem 1 we obtain the following corollary. This provides a simple proof of the regularity of an integral operator defined on a class of regular functions.

COROLLARY 1.1. Let β and γ be complex numbers with $\beta \neq 0$, and let $f(z) = z + c_2 z^2 + \cdots$, be regular in U. If $\operatorname{Re}[\beta z f'(z)/f(z) + \gamma] > 0$ in U then the function F defined by

$$F(z) = \left(\frac{\beta + \gamma}{z^{\gamma}} \int_0^z f^{\beta}(t) t^{\gamma - 1} dt\right)^{1 + \beta}$$
(15)

is regular in U, $F(z)/z \neq 0$, and $\operatorname{Re}[\beta z F'(z)/F(z) + \gamma] > 0$.

Proof. The condition $\operatorname{Re}[\beta z f'(z)/f(z) + \gamma] > 0$, together with f(0) = 0, imply that $f(z)/z \neq 0$ for $z \in U$. The function h, defined by h(z) = zf'(z)/f(z), is regular in U and satisfies $\operatorname{Re}[\beta h(z) + \gamma] > 0$ and h(0) = 1. If we employ this particular h in Theorem 1, with f = H and c = 1, we conclude that the function

$$q(z) = z^{\gamma} f^{\beta}(z) \left(\beta \int_{0}^{z} f^{\beta}(t) t^{\gamma - 1} dt \right)^{-1} - \gamma / \beta = 1 + q_{1} z + \cdots,$$
(16)

is regular in U and satisfies $\operatorname{Re}[\beta q(z) + \gamma] > 0$. If we now define F by

$$F(z) = z \exp \int_0^z \frac{q(t) - 1}{t} dt,$$
 (17)

then F(z) is regular in U, $F(z)/z \neq 0$, and $\operatorname{Re}[\beta z F'(z)/F(z) + \gamma] > 0$. Combining (16) and (17) we obtain (15), which completes the proof of the corollary.

If we let $K_{\beta,\gamma} = \{f | f \text{ regular in } U, f(0) = 0, f'(0) = 1, \text{ and } \operatorname{Re}[\beta z f'/f + \gamma] > 0\}$ and define the operator A(f) = F, where F is given by (15), then the corollary implies that A maps $K_{\beta,\gamma}$ into $K_{\beta,\gamma}$. Note that $K_{\beta,0}$ with $\operatorname{Re} \beta > 0$ is the set of spiral-like functions [9, p. 172].

We next extend Theorem 1 by determining conditions under which the solutions of the Briot-Bouquet differential equation will be univalent. Recall that the regular function f(z) with $f'(0) \neq 0$, is convex (univalent) in U if and only if Re zf''(z)/f'(z) > -1 [9, p. 44].

THEOREM 2. Let β and γ be complex numbers with $\beta \neq 0$, and let h(z) be regular in U with $h'(0) \neq 0$. If we set $P(z) = \beta h(z) + \gamma$ and require that

- (i) Re P(z) > 0 for $z \in U$, and
- (ii) $Q \equiv \log P$ and $R \equiv 1/P$ are convex in U, then the solution of

$$q(z) + \frac{zq'(z)}{\beta q(z) + \gamma} = h(z)$$
 $(h(0) = q(0)),$

as given by (9), is univalent in U.

Proof. We will show that the function f(z) of (12) is a (close-to-convex) univalent function (see [9, p. 51]). This combined with (14) will prove that q(z) is univalent. Note that R'(0) = -Q'(0)/P(0) and $Q'(0) = \beta h'(0)/(\beta h(0) + \gamma) \neq 0$. Since Q and -Q are convex we can prove that f(z) is (close-to-convex) univalent by showing that Re f'(z)/[-Q'(z)] > 0 for $z \in U$. From (13) we have f(z) + zf'(z)/P(z) = 1/P(z). Differentiating this equation and setting p(z) = -f'(z)/Q'(z) we obtain

$$\left[P(z) + 1 + \frac{zR''(z)}{R'(z)}\right]p(z) + zp'(z) = 1.$$
 (18)

If we let $P_1(z) = P(z) + 1 + zR''(z)/R'(z)$, then from (i) and (ii) we obtain Re $P_1(z) > 0$, and we can rewrite (18) as

$$p(z) + \frac{1}{P_1(z)} z p'(z) = \frac{1}{P_1(z)}$$

Since $\operatorname{Re}[1/P_1(z)] > 0$ we have

$$\operatorname{Re}\left[p(z)+\frac{1}{P_{1}(z)}zp'(z)\right]>0,$$

which, by applying Lemma 1, implies that $\operatorname{Re} p(z) > 0$. Hence f(z) is univalent, as is q(z), and this completes the proof of the theorem.

3. Applications to Briot-Bouquet Differential Subordinations

Let f(z) and F(z) be regular in U. The function f(z) is subordinate to F(z), written f(z) < F(z), if F(z) is univalent, f(0) = F(0) and $f(U) \subset F(U)$.

In [2] the Briot-Bouquet differential subordination

$$p(z) + \frac{zp'(z)}{\beta p(z) + \gamma} < h(z) \qquad (p(0) = h(0) = c)$$
(19)

was investigated. If the univalent function q(z) has the property that p(z) < q(z) for all p(z) satisfying (19) then it is called a *dominant* of (19). If $\tilde{q}(z)$ is a dominant and $\tilde{q}(z) < q(z)$ for all dominants q(z) of (19) then $\tilde{q}(z)$ is said to be the *best dominant* of the differential subordination. The existence of a best dominant is provided by the following lemma.

LEMMA 2 [2, Theorem 2]. Let β and γ be complex numbers and let h(z) be convex (univalent) in U with $\operatorname{Re}[\beta h(z) + \gamma] > 0$. Let p(z) be regular in U and satisfy (19). If the differential equation

$$q(z) + \frac{zq'(z)}{\beta q(z) + \gamma} = h(z) \qquad (q(0) = h(0))$$
(20)

has a univalent solution q(z), then p(z) < q(z) < h(z), and q(z) is the best dominant of (19).

Lemma 2 requires that $P(z) \equiv \beta h(z) + \gamma$ be convex, while Theorem 2 requires that 1/P and $\log P$ be convex. Both results require that $\operatorname{Re} P(z) > 0$. If $\operatorname{Re} P(z) > 0$ then a simple computation shows that P and 1/P convex implies that $\log P$ is also convex. Because of this we can combine Lemma 2 and Theorem 2 and obtain the following more definitive result.

THEOREM 3. Let β and γ be complex numbers with $\beta \neq 0$, and let $P(z) = \beta h(z) + \gamma$. If

- (i) Re P(z) > 0 for $z \in U$, and
- (ii) P and 1/P are convex in U,

then the solution of (20) is univalent and is the best dominant of (19).

The functions $P(z) = e^{\lambda z}$, with $|\lambda| \leq 1$, and P(z) = (1 + Az)/(1 + Bz), with $-1 \leq B < A \leq 1$, are examples of functions satisfying these conditions.

COROLLARY 3.1. Suppose r(z) and s(z) are regular in U with r(0) = s(0) = 0, r'(0) = s'(0) = 1, and

$$\frac{zr'(z)}{r(z)} < \frac{zs'(z)}{s(z)}.$$

If $h(z) \equiv zs'(z)/s(z)$ satisfies the conditions of Theorem 3 and if $R \equiv I(r)$, $S \equiv I(s)$, where I is the operator defined in (15), then

$$\frac{zR'(z)}{R(z)} < \frac{zS'(z)}{S(z)} < \frac{zs'(z)}{s(z)}.$$

The left subordination result is sharp.

Proof. If we set p(z) = zR'(z)/R(z) and q(z) = zS'(z)/S(z) then $p(z) + zp'(z)/(\beta p(z) + \gamma) = zr'(z)/r(z)$ and $q(z) + zq'(z)/(\beta q(z) + \gamma) = zs'(z)/s(z) = h(z)$. Applying Theorems 2 and 3 we obtain the desired result p(z) < q(z) < h(z). Since q is the best dominant, zR'(z)/R(z) < zS'(z)/S(z) is sharp.

Several cases of this result, for special values of β and γ , have been used to determine the order of starlikeness of classes of univalent functions. An example of this technique in determining the order of spiral-likeness is given in Example 2.

In the rest of this section we restrict our analysis to the case when h(z) = (1 + Az)/(1 + Bz). This function is convex for $A, B \in \mathbb{C}$ with $A \neq B$ and $|B| \leq 1$. The dominants arising from the differential subordination corresponding to this particular h(z) have several applications to univalent functions.

COROLLARY 3.2. Let A, B, β , $\gamma \in \mathbb{C}$ with $\beta \neq 0$, $|B| \leq 1$ and $A \neq B$, and suppose that these constants satisfy

$$\operatorname{Re}[\beta(1-A)(1-\overline{B})+\gamma|1-B|^{2}] > 0$$
(21)

and

$$\operatorname{Re}[\beta(1-A)(1-\overline{B})+\gamma|1-B|^{2}] \cdot \operatorname{Re}[\beta(1+A)(1+\overline{B})+\gamma|1+B|^{2}] -[\operatorname{Im}[\beta(\overline{B}-A)+\gamma(\overline{B}-B)]]^{2} \ge 0,$$

or

$$\operatorname{Re}[\beta(1+A)(1+\bar{B})+\gamma|1+B|^{2}] \ge 0$$
(22)

and

$$\operatorname{Re}[\beta(1-A)(1-\overline{B})+\gamma|1-B|^2] = \operatorname{Im}[\beta(\overline{B}-A)+\gamma(\overline{B}-B)] = 0.$$

Then the differential equation

$$q(z) + \frac{zq'(z)}{\beta q(z) + \gamma} = \frac{1 + Az}{1 + Bz}$$

has a univalent solution given by

$$q(z) = \frac{z^{\beta + \gamma} (1 + Bz)^{\beta((A - B)/B)}}{\beta \int_0^z t^{\beta + \gamma - 1} (1 + Bt)^{\beta((A - B)/B)} dt} - \frac{\gamma}{\beta} \quad \text{if } B \neq 0$$

$$= \frac{z^{\beta + \gamma} e^{\beta Az}}{\beta \int_0^z t^{\beta + \gamma - 1} e^{\beta At} dt} - \frac{\gamma}{\beta} \quad \text{if } B = 0.$$
(23)

If p(z) is regular in U and satisfies

$$p(z) + \frac{zp'(z)}{\beta p(z) + \gamma} < \frac{1 + Az}{1 + Bz}$$

then p(z) < q(z) < (1 + Az)/(1 + Bz) and q(z) is the best dominant.

Proof. If we set h(z) = (1 + Az)/(1 + Bz) and $P(z) = \beta h(z) + \gamma$ then

$$P(z) = \frac{\beta + \gamma + (\beta A + \gamma B)z}{1 + Bz},$$
(24)

and P is convex since $|B| \leq 1$. We prove this corollary by showing that P satisfies conditions (i) and (ii) of Theorem 3. We first show that $\operatorname{Re} P(z) > 0$ for $z \in U$ if and only if conditions (21) or (22) hold. This follows by considering $\operatorname{Re} P(z)$ when |z| = 1. If we set z = (1 + it)/(1 - it) with $t \in (-\infty, \infty)$ then a simple calculation shows that $\operatorname{Re} P(z) \ge 0$ if and only if

$$\{\operatorname{Re}[\beta(1-A)(1-\overline{B})+\gamma|1-B|^{2}]\}t^{2}+\{\operatorname{Im}[\beta(\overline{B}-A)+\gamma(\overline{B}-B)]\}t +\operatorname{Re}[\beta(1+A)(1+\overline{B})+\gamma|1+B|^{2}] \ge 0.$$
(25)

The quadratic $Mt^2 + Nt + k \ge 0$ for all t if and only if M > 0 and $N^2 - 4Mk \le 0$, or if $k \ge 0$ and M = N = 0. These are precisely the conditions given in (21) and (22) for the quadratic in (25). Hence Re P(z) > 0 for $z \in U$ and condition (i) of Theorem 3 is satisfied. Using this result together with the fact that P is a linear transformation mapping onto a convex domain we conclude that 1/P also maps onto a convex domain. Hence by Theorem 3, q(z) is univalent and is the best dominant of the differential subordination. The formula for q(z) as given in (23) is easily obtained from (10) and (11) with c = 1, and this completes the proof of the corollary.

We next discuss several examples of this corollary and in the process indicate several applications in the theory of univalent functions.

EXAMPLE 1. Let $\beta > 0$, $\gamma = 0$ and $-1 \leq A$, $B \leq 1$ with $A \neq B$. In this case (21) and (22) are satisfied, and hence

$$q(z) + \frac{zq'(z)}{\beta q(z)} = \frac{1 + Az}{1 + Bz} \qquad (q(0) = 1)$$
(26)

has the univalent solution q(z) given by (23), with $\gamma = 0$. If, in addition, p(z) is regular and satisfies

$$p(z) + \frac{zp'(z)}{\beta p(z)} < \frac{1+Az}{1+Bz},$$
 (27)

then p(z) < q(z) < (1 + Az)/(1 + Bz) and q(z) is the best dominant of (27). This result improves the result of Jakubowski and Kaminski [4] which showed that (27) implies p(z) < (1 + Az)/(1 + Bz).

If we take $\beta = 1$ in (26), then this differential equation has the univalent solution

$$q(z) = \frac{Az}{(1+Bz)[1-(1+Bz)^{-A/B}]} \qquad A \neq 0, B \neq 0,$$

$$= \frac{Bz}{(1+Bz)\ln(1+Bz)} \qquad A = 0, B \neq 0, \qquad (28)$$

$$= \frac{Aze^{Az}}{e^{Az}-1} \qquad A \neq 0, B = 0.$$

If in addition p(z) is regular with p(0) = 1 then

$$p(z) + \frac{zp'(z)}{p(z)} < \frac{1+Az}{1+Bz} \Rightarrow p(z) < q(z),$$
⁽²⁹⁾

where q(z) is given by (28). If we set p(z) = zF'(z)/F(z) in (29) we obtain

$$1 + \frac{zF''(z)}{F'(z)} < \frac{1+Az}{1+Bz} \Rightarrow \frac{zF'(z)}{F(z)} < q(z).$$
(30)

By further specializing A and B in (30) we can obtain several results about the convex differential operator 1 + zF''/F'. If we take $A = 2\alpha - 1$, $0 \le \alpha < 1$, and B = 1 in (30) we obtain the following result of MacGregor [6] for convex functions of order α : Re $(1 + zF''/F') > \alpha$ implies

$$\frac{zF'(x)}{F(z)} < q(z) = \frac{(2\alpha - 1)z}{(1 + z)[1 - (1 + z)^{1 - 2\alpha}]} \qquad \alpha \neq \frac{1}{2},$$
$$= \frac{z}{(1 + z)\ln(1 + z)} \qquad \alpha = \frac{1}{2}.$$

If we take B = -A in (30) we obtain

$$1+\frac{zF''(z)}{F'(z)}<\frac{1+Az}{1-Az}\Rightarrow\frac{zF'(z)}{F(z)}<\frac{1}{1-Az},$$

where $|A| \leq 1$. This is a generalization of results of Marx [7] and Strohhäcker [11] who proved this result for A = 1.

If we take B = 0 in (30) we obtain

$$1+\frac{zF''}{F'}<1+Az\Rightarrow\frac{zF'(z)}{F(z)}<\frac{Aze^{Az}}{e^{Az}-1},$$

where $|A| \leq 1$ and $A \neq 0$. If $0 < A \leq 1$ we also have

$$\left|\frac{F''(z)}{F'(z)}\right| < A \Rightarrow \frac{zF'(z)}{F(z)} < \frac{Aze^{Az}}{e^{Az} - 1}.$$

If we take A = 0 in (30) we obtain

$$1 + \frac{zF''(z)}{F'(z)} < \frac{1}{1+Bz} \Rightarrow \frac{zF'(z)}{F(z)} < \frac{Bz}{(1+Bz)\ln(1+Bz)}$$

EXAMPLE 2. Let $\beta = e^{i\alpha}$, $-\pi/2 < \alpha < \pi/2$, $\gamma \in \mathbb{C}$, B = 1, and $A = \overline{\beta}(2\rho \cos \alpha - \overline{\beta})$, where ρ satisfies

$$\frac{-\operatorname{Re}\gamma}{\cos\alpha} \leqslant \rho < 1. \tag{31}$$

Note that (31) implies that $\text{Re}[\beta + \gamma] > 0$ and that ρ may assume negative values. In addition, (31) implies that (22) is satisfied. Hence, by Corollary 3.1 we obtain

$$p(z) + \frac{zp'(z)}{e^{i\alpha}p(z) + \gamma} < h(z) \equiv \frac{1 + [e^{-i\alpha}(2\rho \cos \alpha - e^{-i\alpha})]z}{1 + z}$$

$$\Rightarrow p(z) < q(z) < h(z), \qquad (32)$$

with

$$q(z) = e^{-i\alpha} \left\{ \frac{z^{e^{i\alpha} + \gamma} (1+z)^{-2(1-\rho)\cos\alpha}}{\int_0^z t^{e^{i\alpha} + \gamma - 1} (1+t)^{-2(1-\rho)\cos\alpha} dt} - \gamma \right\}$$

We can use (32) to improve a result of Bajpai [1, Theorem 1] concerning Libera-Bernardi transforms of spiral-like functions. Let f(z) be an α -spirallike function of order ρ , that is, f(z) is regular in U, f(0) = f'(0) - 1 = 0, and

Re
$$\left(e^{i\alpha} \frac{zf'(z)}{f(z)}\right) > \rho \cos \alpha$$
,

where $-\pi/2 < \alpha < \pi/2$ and $0 \le \rho < 1$. Bajpai shows that if $0 \le \rho < 1$ and $-\text{Re } \gamma/\cos \alpha \le \rho$, then the function F defined by

$$F(z) = \left(\frac{e^{i\alpha} + \gamma}{z^{\gamma}} \int_0^z \left[f(t) \right]^{e^{i\alpha}} t^{\gamma - 1} dt \right)^{e^{-i\alpha}}$$
(33)

is also α -spiral-like of order ρ . Hence

$$\operatorname{Re}\left(e^{i\alpha} \frac{zf'(z)}{f(z)}\right) > \rho \,\cos \alpha \Rightarrow \operatorname{Re}\left(e^{i\alpha} \frac{zF'(z)}{F(z)}\right) > \rho \,\cos \alpha,$$

or equivalently

$$e^{i\alpha} \frac{zf'(z)}{f(z)} < e^{i\alpha}h(z) \Rightarrow e^{i\alpha} \frac{zF'(z)}{F(z)} < e^{i\alpha}h(z),$$

where h(z) is given in (32). If we let p(z) = zF'(z)/F(z) and use (33) then this last result can be written in the form

$$e^{i\alpha}\left(p(z)+\frac{zp'(z)}{e^{i\alpha}p(z)+\gamma}\right) < e^{i\alpha}h(z) \Rightarrow e^{i\alpha}p(z) < e^{i\alpha}h(z).$$

From (32) we see that we can improve the conclusion of this result to $e^{i\alpha}p(z) < e^{i\alpha}q(z)$, that is,

$$\operatorname{Re}\left(e^{i\alpha}\frac{zf'(z)}{f(z)}\right) > \rho \,\cos\alpha \Rightarrow e^{i\alpha}\,\frac{zF'(z)}{F(z)}$$
$$< \frac{z^{e^{i\alpha}+\gamma}(1+z)^{-2(1-\rho)\cos\alpha}}{\int_{0}^{z}t^{e^{i\alpha}+\gamma-1}(1+t)^{-2(1-\rho)\cos\alpha}\,dt} - \gamma,$$

and this result is the best possible. This result depends only on (31) and not on $0 \le \rho < 1$, although univalency of f and F may be lost for negative ρ .

References

- 1. S. K. BAJPAI, An analogue of R. J. Libera's result, Rend. Mat. (7) 12 (1979), 285-289.
- 2. P. EENIGENBURG, S. MILLER, P. MOCANU, AND M. READE, On a Briot-Bouquet

differential subordination, General Inequalities 3, International Series of Numerical Mathematics, Vol. 64, Birkhäuser Verlag, Basel (1983), 339–348.

- 3. E. HILLE, "Ordinary Differential Equations in the Complex Plane," Wiley, New York, 1976.
- 4. Z. JAKUBOWSKI AND J. KAMINSKI, On some properties of Mocanu-Janowski functions, *Rev. Roumaine Math. Pures Appl.* 10 (1978), 1523-1532.
- 5. Z. LEWANDOWSKI, S. MILLER, AND E. ZŁOTKIEWICZ, Generating functions for some classes of univalent functions, *Proc. Amer. Math. Soc.* 56 (1976), 111-117.
- 6. T. H. MACGREGOR, A subordination for convex functions of order a, J. London Math. Soc. (2) 9 (1975), 530-536.
- 7. A. MARX, Unteruchungen über schlicte Abbildungen, Math. Ann. 107 (1932/33), 40-67.
- 8. S. S. MILLER AND P. T. MOCANU, Second order differential inequalities in the complex plane, J. Math. Anal. Appl. 65 (1978), 289-305.
- 9. CH. POMMERENKE, "Univalent Functions," Vanderhoeck & Ruprecht, Gottingen, 1975.
- 10. S. RUSCHEWEYH AND V. SINGH, On a Briot-Bouquet equation related to univalent functions, *Rev. Roumaine Math. Pures Appl.* 24 (1979), 285-290.
- 11. E. STROHHÄCKER, Beiträge zur Theorie der schlicten Funktionen, Math. Z. 37 (1933), 356-380.